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II. 1. students; 2. eighty; 3. teacher;
4. heart; 5. shaking; 6. schoolroom
C.

[T1I. 1. keep a record of; 2. take a rest;
3. made a promise; 4. have a swim;
5. have a look at; 6. lef out a cry

IV. 1. the next afternoon; 2. the night before last;
3. just before dinner (supper): 4. at least half a

year ago; 5. about an hour’s ride; 6. only two



years ago; 7. in the course of the lesson; 8. sixty

years of teaching; 9. after a while (moment);

10. catalogued by name and date; 11. marked with

the month and the year; 12. on his first day at

school
V. 1. Being(a present participle used as an adverbial)

2. gelting (a gerund used as an object of the pre-
position “of”)

3. moving (a present participle used as a predica-
tive)

4. thinking (a present participle used as an adver-
bial)

5. making (a gerund used as an object)
laughing (a gerund used as an object)

6. announcing (a present participle used as an at-
tributive) |

7. shaking (a present participle used as an objec-
tive complement)

8. listening, speaking, reading, writing (gerunds
used as the subject of the sentence)
learning (a gerund used as an object of the
preposition “in”)

9. training (a gerund used as a predicative)

10. coming (a gerund used as the subject)

VI. 1. Having a lot of work to do, they did not go

v 9



to the Summer Palace.
2. Deeply moved by Lei Feng’s example, they did
a lot of things for the people.

3. Being properly marked and catalogued, the
books can be easily found.

4. Recognizing the man who had been his class-

mate ten years before, he went over to say
hello to him.

5. Greally touched by his teacher’s words, the boy
later went up to him and said “sorry”.

6. Hearing a2 cry for help, he rushed out.

7. Being an engineer, he had to know what to do.

8. Led by our great Party, we have won one vic-
tory after another.
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IV.

e

A.

/D3, b 3T B AR times you divide a thing,

you can always go on.

. Ell{ﬁkﬁﬁﬂﬁﬁ,ﬁ{ﬂ{ﬁ 2. Even if (though) you

T Ak £ wir can’t finish it, others
may go on.

O e T4 ik, b4y 3. T must find the Ilost

A FEX 9008 child, even if (though)

it’s getting dark.
X UEA MRS5S T 4. This city is ten times

KALfE, bigger than that one.

AR IAIE 5. This railway is lour

=1{%. times longer than that
one.

17 ++ 29 = ? 17 + 29 = 46

How much is seventeen plus twenty-nine?
Seventeen plus twenty-nine is forty-six.

63 + 72 =17 63 4+ 72 = 135

How much is sixty-three plus seventy-two?
Sixty-three plus seventy-two is one hundred
and thirty-five.

36 + 51 = ? 36 + 51 = 87

How much is thirty-six plus fifty-one?
Thirty-six plus fifty-one is eighty-seven.

201 4+ 158 = 7?7 201 +4- 158 = 359
How much is two hundred and one plus one
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hundred and fifty-eight?

Two hundred and one plus one hundred and
fifty-eight is three huudred and filty-nine.
34 — 23 =17 34 — 23 = 11

How much is thirty-four minus {wenty-three?
Thirty-four minus twenty-three is eleven.

45 — 34 =17 45 — 34 = 11

How much is forty-five minus thirty-four?
Forty-five minus thirty-four is eleven.

98 — 35 = ? 98 — 35 = 63

How much is ninety-eight minus thirty-five?
Ninety-eight minus thirty-five is sixty-three.
102 — 101 = ? 102 — 101 = 1

How much is onec hundred and two minus one
hundred and one¢?

One hundred and two minus one hundred and
one is one.

11 X 65 = 7 11 X 55 = 605

How much is eleven times fifty-five?

Eleven times fifty-five is six hundred and five.
9 X 9 =7 9 X 9 = 81

How much is nine times nine?

Nine times nine is eighty-one.

86 X 3 =17 86 X 3 = 258

How much is eighty-six times three?



Eighty-six times three is two hundred and
fifty-eight.

59 X 37 =17 59 X 37 = 2183

How much is fifty-nine times thirty-seven?
Fifty-nine times thirty-seven is two thousand
one hundred and eighty-three.

42 = 6 =17 42 - 6 =7

How much is forty-two divided by six?
Forty-two divided by six is seven.

81 = 9 =7 81 = 9 =9

How much is eighty-one divided by nine?
Eighty-one divided by nine is nine.

22 = 11 = ? 22 - 11 = 2

How much is twenty-two divided by eleven?
Twenty-two divided by eleven is two.

303 = 303 = ? 303 = 303 =1

How much is three hundred and three divided
by three hundred and three?

Three hundred and three divided by three
hundred and three is one.

0.185 zero point one eight five

3.987 three point nine eight seven

11.256 eleven point two five six

16.783  sixteen point seven eight three
20.147 twenty point one four seven
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